CLASS : 12th (Sr. Secondary) Code No. 3630
Series : SS-M/2018

Roll No. SET : A

SICRCEI]

BIOLOGY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear Candidates)

Time allowed : 3 hours | [ Maximum Marks : 60
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Please make sure that the printed question paper are contains 18
questions.

° y97-U5 H &lled & # oY /9 T Fe THT T @ F HH TAv-iawm &
FE-7% q7 @)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
o ghEreff STy U To FIT-YF YT 37q9T i@

Candidates must write their Roll Number on the question paper.

» FUIT go F IUT @7 @ (@ B Gad & o & FeT-0F g7 T @& &, §her &
FYUT 59 T § 23 4 qar @hEre & B aam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

G [7397 - -
() @ g7 SlEart &

(i) 37 59799 7 G 18§97 &, &l @I @] - N, §, @ 7 T 4 fvwT &

(i) GUE - O % T GEI 1 7 FE (ixii) FGITT F97 &1 F97 (i) G (viii) T
JelRHNT J97 &1 Jh% 497 H & ey [T 7 & forad @ el fAwey a7
g7 FTT FIT (ix) @ (xii) TF F9F F T QF 7 & I I JH 7
A qA% F97 1 9% F 8
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G- T (49 FaIEE 597) & ahrs:/? 7 aR% [awey 3yas 81 7 ge

7 & aye & T g 7 § BT @ & F97 FOA &1

General Instructions : -

(9
(i)

(iii)

()

All questions are compulsory.

This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

Section - A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (uvii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or tweo words or sentences.

Section - B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

(v) Section = C contains question numbers 11 to 15 of short answer type
questions and carry.3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type
questions and carry 5-marks each.

(vii) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

qug - &
SECTION - A
(aEgFTs 59 )
(Objective Type Questions)
1. () fe=fafed & @S- fafm 2 ? 1
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(A) 2ugd

(B) %

(©) (&) ¥R (B) AN

(D) B

Which of the following is hermaphrodite ?
(A) Tapeworm

(B) Leech

(C) Both (A) and (B)

(D) Roundworm

(i) ffataa § @ fFad oTaed rRNA TieRe-11 gRT 8rar & 7 1

(A) tRNA

(B) 5s rRNA
(C) Sn RNA
(D) Hn RNA

Which of the following is transcribed by rRNA polymerase-II ?

(A) tRNA

(B) S5s rRNA
(C) Sn RNA
(D) Hn RNA

(i) Frfoied & & SF-91 TRE el ST oI Il HT e 787 Al § 7 1

(A) UAA
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(B) UAG
(C) (A) ¥R (B) &t
(D) UAC

Which of the following codon does not code for any amino acid ?
(A) UAA
(B) UAG
(C) Both (A) & (B)
(D) UAC
(iv) ohefe feped fospiia gu ? 1
(A) SHIX
(B) Wl
(C) Ut
(D) Rl
Lobefin evolved into :
(A) Amphibian
(B) Reptile
(C) Bird

(D) Mammal

3630/(Set : A) P.T.O.

Previous Pathshala




(6) 3630/(Set : A)
(v) Ffated § @ de-a1 @ ®9 9 TR & REX & am S § 7
1

(A) TR

(B) UserseX

(C) =™

(D) TR

Which of the following is a free living nitrogen fixing bacteria ?

(A) Pseudomonas

(B) Azotobacter

(C) Rhizobium

(D) Nitrosomonas

(vi) TR TR oMY e e fhw e Brar 1 e & 7 f

(A) wei

(B) eIl

(C) SHTRIIG gt
(D) Rl

Interaction between sea anemone and clown fish is an example of :
(A) Competition

(B) Commensalism
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(C) Amensalism

(D) Parasitism

(vii) TEH ST A oTaee fhe R 1 ST B 7 1

(A) SKiE TR

(B) g STIhH

(C) T A

(D) o3fag ST

Lichens and Mosses are the stages of which type of succession ?
(A) Hydrarch

(B) Marsh

(C) Psammarch

(D) Xerarch

(viii) fF=fofad & & ®9-T1 % og fAfdedr & o0 @au 78 g 7 1
(A) Qe s 1 et
(B) a9 Siad STHIARYY

(C) EE &1 =™

(D) Hg

Which of the following is not a threat to biodiversity ?
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(A) Introduction of exotic species
(B) Wild life sanctuaries
(C) Habitat loss

(D) Pollution

(ix) F¥& Gode 1 & ¢ 1

What is syngamy ?

(x) ZIFTffr#m g ? 1

What is ZIFT technique ?

(xi) U F & ° 1

What is flocs ?

(xii) T % (99 @ GRS B 1
Define Allen's rule.
gug - ¢

SECTION- B

(SAfer-Sregerees 99)

(Very Short Answer Type Questions)
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2. Jeqied! A B G A 2
Write down the structure of fallopian tube.

3. TFRIg® B Ay Bfvdt & IR 7 fafaw 2
Write about barrier methods of contraception.

4. IEH AR GAUEH A § AR WL Ho 2
Differentiate between promoter and terminator gene.

5. HREH T M dwor & T G Ml 96 & IR OF T & ofaeds & ¢ 2
Why are all the three types of RNAs needed to synthesize a protein in a
cell ?

6. Wiead TRYA & e @1 ¢ ¢ SF asih w AM iy, R 38 @i
fepam 2
What is the theory of spontaneous generation ? Name the scientist who
dismissed it.

7. QEHEAS Y WG] § A B & P 3EH g 8 ! 2
From which microbes, the streptokinase is produced. What is its role ?

8. WAL & URHAT H VEaaM 59 JHR HF el & 7 2
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10.

11.

12.

13.

(10) 3630/(Set
How does ribosome work in the process of translation ?
e IYaA 1 & ¢ SR H I i & ar 7 faran 2
What are sacred groves ? Write down their role in conservation.

g ffeear efy & sfEed @ F®& gfE s 7 2

What is the role of over-exploitation in biodiversity loss ?

qis -9
SECTION - C

(FerIeT 99)

(Short Answer Type Questions)

SPhSTch TCTRIAl o (AT S FH1 Ak B SR

- A)

Draw a well labelled diagram of sectional view of a seminiferous tubule.

TSl FT B 2 7 UE Y Bl B R D @O F Bd B 7 3

What is Allergy ? How does it take place & what are its symptoms ?

qME HET | Qe B F R § 7 3

What is the role of animal husbandry in human welfare ?
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14. @ U9 U i< Tl W 59 YHR Her ST 9T § 7

15.

16.

17.

How can DNA be cut at specific locations ?

g TaE (SEHRATEDBIE) # qUH i 3

Discuss biomagnification.

gos - T
SECTION ~ D
(S ST )

(Long Answer Type Questions)

TIRTET Gl B G | gUid i 5

Describe the structure of pollen grain in detail:

e U 1 2 ? U Saedl died aui aifeg| 5

What is co-dominance ? Explain with an example.

OR
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q¥g ¥ qU 9 g AR e el @ que i 5

Describe various chromosomal disorders found in human beings.

18. FHITHA YR H AR TT T ey [y 1 & ? U &0 died e S|
5

What is RNA interference technique of cellular defence ? Explain with

an example.

OR

Sie fafecer ®m & 7 GEMEE feudeT (T €1 ) ® FA B IR ad Y AU
il 5

What is gene therapy ? Illustrate using the example of adenosine

deaminase (ADA) deficiency.
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